
Arc
hi

ve
 o

f S
ID

�������	
����� �
�	
�����
���
�������
��������
��� �!"�
�#��"$%&�������'�(�

1389���)�*���� ��131������126��+�,-.�� ��2� ������ ��/)"$�0��

�����
��	��
�����
����

��������	
���
���������������������������������� !��"� 
$%���&�'�()*����+,
��-�&��!
�.���	�
��-

3�������	
������
2�������������������
1��������������*

������
���
��������� �!��"#������
�$%����&������� �!��'(�!)������)+�,-���.��/��$����0�4��567�������4���������	
��
��(�����86�!��&��%���9�����:�4��������;�<������������=�$>�����$
$���(�?@���$���-�,�A)��$B��(�?@�C�
������D���+�E����
�C��>�7������F(��&����G#����H!-����&��I-�D�����-����(Stress ulcer)��I>���J��4���(�H.)�9���%�<�EB9��-�,6-�K����

�=(������(�?@���$��L�����M��)��<����-��������=(����NO)��4��-��$P.��,-������,�>�7��
�4��,��������#����O)���$��86�!�

;�����C�$Q�D�����-
��F(��&����G#����H!-����1385-86���4����1018�W	B������-��$�$4�����.�>�-��(��9+����,�>�7��X(��������
���������
���
�(Nasogastric tube)�&������ –��.�-�,(?Y)�,>$>�&���������-�50�����)��
+��A%Z[�\$6]���0^<���_`a�����\����D��4����-
���������]�4�6����\���1�9����-�C�:>���$4�b�#���..�����(���&�:<�25���������,-�����c)��$7-��I>���J��4���-�,6-�K�
����.���C�$Q�,-�L�����\��<��;�<�%�E�IK)�&�(���C�$Q�,-��]�4�8����\����6���50�9����-�=(����<����$d�+���..�����(��
�&����Y���D�����`��%�9��MG#�����������������B�$.A(��-�(9�����
�;�%����\��<����-�X(��]�4�6����MA%�,-���(Intermittentn)

�,6B����M��$]�,�6��M��%�,�a�(Therapeutic Intervention Score System: TISS)���(APACHE II score) II��e�[+��$A4����X�����$��
�����)�&����Y���D�����`��%�9��9���,4�9����-�����������NO)��-�(9�����
����.��������#�,I(�K����$��_�$%����,�>�7�������
�����4��4�250�9��H�-�(Gastric retention)�&���������<���#�-�E������$������)���(Emesis)�`$�)���(Diarrhea)����4�����B�����$�
��<$��4���)�
�� –�&���&���+�&��<$�9+���SPSS 13���Z���\�<�9�����:�4���-����,���(�;�<�%��GN������������
L�����9���-��]�4�6
����<����(����D��-�����<��4��&�7B ±�=�0<����C�$Q�,-���,��������#�M�6�)��,(Z�)���$��U��.�(��f=�����^���5�#���I)��

;�%�-�����($�^<���,��<�D�(�[�9��,�����-�,�>�7��=(��;�%��$I��������.���p<0/05
�TISS���II��e�[+��$A4��&���D�Z���,I(�K��;_p>0/05a��$-�D�IA(������������D9����h.
�
=4�X�����$���C��Q$cB����������
��$-�=(����<��������9�������C�:>���$4���������`$�)������4�����B��D�Z���;_p>0/05a��%��<�&�����.���C��:)�����������
���������
���.���/���,-�L������]�4�6�C����i�������>��6���250�9��H�-�&���������<���#�-�E������$������)�;_p<0/05a

;_p<0/05a��$-�C�:>���$4������9���^�-�=(����<��
�L�����,6�4$-���<+�,(?Y)�,���F(��&����G#����H!-����&��I-�D�����-����,������D�^<�5�K�)�=(��9��MQ���j(��<�����������������

����:�4���(�����9���4�����-�
�I>���J��4���-��-�����I�	����[�,-�9��<�C�$Q����
�$%����\��<��&�������f�.�-�,>$>�X(�5(�i�9���
;�$-�=(����<���9��)�/�(?[�M-�#�C�:>���$4�,�>�7��=(�����,���%�-�,�%���D�����-�k4$)�L�����M��)��-�&�����l$4���N�O)�,�����

=(����<���
C�:>���$4�
L������������ �!��

_�$mI����.I($<na��F(��&����G#�������%$��-������
�
+��A%Z[�\$6]���0^<���
D���)�
D��(��
��(���4� �o1
�������	
������
����	��pX�<���A>��J��+���������85953585�p=:6) �

�F(��&����G#�������%$��-������
�
+��A%Z[�\$6]���0^<���
D���)�
D��(��
��(���4� �o2
��$�]�X%Z[�
�
+��A%Z[�\$6]���0^<���
D���)�
D��(��
�0^��F[ �o3
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�
����$�%�@(A�B
�����)C# DDD��#���)�*��
���E*��#�F
%���G�,���*�H	�E)E�
��%�+�-:
�C
��I�J���EKL��'�	�;�127

�	�
	
�&����G#����H!-����&��I-�D�����-�����I>���J��4��9��&��0^�[
����(��M��]�=(���(�%��I>���J��4����(9�
�%�-����E������I-��F(�
��%��$��&Z(�<$B����B������$-�D����-�=(������%��$��&Z(�<$B
�;_2�
1a��$%����D�����-�=(�����>�)�$��D�Z���D�%��-��-�j.[�,-���.�
� �!��'(�!)������)+�,-���.��/��$����0�4��567�������4�
�&��0^�[�M-�#�&�(���,(?Y)�k4$)��>���=(��,���$%����&������
�D�%���)$��
&�������,(?Y)�\�]�,�:��X(�9����-�"#������
�%�-���<
�C��G]�,-��������r��(Microvilli)������&����6(���A���'(�!)��
��$B��(�?@�C�
������D���+�E�������
��������� �!���0(�

;_4�
3a��<������������=�$>�����$
$���(�?@���$���-�,�A)
��$B�,-$.-�Z�<�D+���i�!��'(�!)�,-���.��&�������,(?Y)�D��K�
�D�-�MB���,-���������D����&���&����-����������K�<��,-���.�
��0e��dA(�����>����t:���-�&�������,(?Y)����=(��9��
�<$%���
�����(�����<$:]���K�<��9��&���$6
�����<�$)����
&������� �!�

;_5a��%�-��Nu����sepsis

�&����G#����H!-����&��I-�D�����- ����&�������,(?Y)�`��%
�t:��,-�D�$)����,6�
�D+�9��,���4��&��(9��(�$��&������F(�
���9+�����������X(��<�Z��D$B�D�(�
��$G�-�
�������������>���
���>����t:�����,��J��A<�[�������9��X����)�&���$�����&9�4
���	]�,-��������%��
�.�I��Nu��&�������&��>$64���$)�������4$)�d�
���&L�<��C�
�����9����
$)�M-�#���I#������4���<��,���(��<+9�
��<��+�����4��,-�&�������C�($����Ev��5(�i�9������$B�&��,(?Y)

;_6a��%�-���������(�����I-�&�������,(?Y)����(�4�,e���`��%
�����-�D�����-����X(L$>$(Z����(�%�H.)���G<��,-�2�I>���J��4�
��<�#$����I#��i�!��,�(���C�$Q�,-�,����<$�[����`$#��,-
��.��������P)�������������[��(�&Z(�<$B��-�\w$)�/��$����0�4�
�9���%�<�EB9�9��&��0^�[�x!^��,��<�-�X(��$
����.(� �9�
��.e����
�4��&������F(��&����G#����H!-�D�����-����J��4�
�H!-����J��4��9���%�<�EB9�9��-�9��&��0^�[�&��-������Z($�)
�
�4�,-���&�����,���$%����,�Q$)��<�����-�&��-��F(��&����G#���
�&��<������(�4��<�
y$%�
z�Z-�&�������
�
"�4��&����0�B$4
�
C����<{$i��A�<�A��,($�)�,-�9��<�
&��K�<��C{	�B��
�����
��%��$��&Z(�<$B�,K-�4����%��$��EB9��>$��&�������Z($�)

;_9�
8�
7a��.�I��EB9�9���%�<
�9� ��%�< �EB9��I�	����[ ���
�&Z($�)�&���� �`$< ��P< �9�
�&����$6-���<+�=(�)�j(���,��������$
���:6�!��&�������J��4�
��.%�-����D$)��[�}�[�&�����..�����������:>���$4�
H2�&�����<���

;_10a
�,(?Y)����~
���/������.���,(?Y)�/���,���4��~��$)�,-�\9{
�(Continuous)��>�$���,(?Y)�/���,���>�������4��X(��4���9�<

;_12�
11a��4��~
�����<$�LL�,(?Y)���
���>������ �!���-��������=(��9��X(�����NO)����N��EI�<�A��,-��P<
�M��)��-���<+���NO)�,���<������/��$����0�4������������%�)
�
�F(��&����G#����H!-����&��I-�D�����-��%��$��,(?Y)���L����
�� �C�:>���$4�&���� ��� ���NO) �,I(�K� ��$P.� �,- ������,�>�7�
;�����C�$Q�D�����-�=(������(�?@���$��L�����M��)��-�=(����<��

���
��������	
�(Double blind RCT)��$�$4�����.�>�-��(��9+����C�$Q�,-�,�>�7�
�����$-�ASA 1-2�,��,>�4�20f�70�D����-����1386-87���4���
�D��4����-��F(��&����G#����H!-����&��,.��9�C	A^��M�>��,-
��-���	]�����$-�&��I-��
+��A%Z[�\$6]���0^<���_`a�����\���
�
H.)�9���%�<�EB9�9��&��0^�[���
��%��$��,(?Y)����(��

;�����C�$Q��<����������(�������
�(Convenience)�J��4������(�D�4+�&����,<$�<�/���,-�,<$�<�E��
�D+����,�� n=Z2* d2���2  ��$����9��ß��0/8�������������,-�,
$)��-��
��1/96��-��-��Z����	���10����������
��95�D�.��i��~74�&��-

;�%�\��<��
�$-���%�,������P<����d=1

�&������ –��.�-�,(?Y)�,>$>�&���������-�50�����)�&����-�,�>�7�
�,-�����c)�x�c!)�C�$Q�,-��I>���J��4���-�,6-�K����
�,�
�\��1�9����-�C�:>���$4�b�#���..�����(���&�:<�25��������
��$d�+���..�����(����������L�����9��MG#��]�4�E�<��]�4�6���
�E�IK)�&�(���C�$Q�,-��]�4�8����\����6��50�9����-�=(����<��
������.���MA%�,-�L�����\��<��;_13a������C�$Q��<�$-���%
���B�$.A(��4��-���
�;�%����\��<����-�X(��]�4�6����C�$Q�,-
��$A4���X�����$���&����Y���D�����`��%�9��MG#��������������
�,�>�7��������,6B����M��$]�,�6����<�����-����,�a�TISS����e�[+
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���-�����������NO)��-�(9�����
����%�����GN������������_�$%���
������4�����B�����$������)�&����Y���
D�����`��%�9��9���,4�9�
�����4��4�250�9��H�-��������<���#�-�E������$������)���`$�)

;_14a��<�%�����GN������������
L�����9����-��]�4�6
�ASA I -II���=4���4�70��)�20�D�����-�,�6����"#�$���
������%���& 
���i�'($c)�D��9�9��,��(American Society of Anestisiologisty)

�&��I-��
+�_`a�����\����D��4����-��F(��&����G#����H!-���
���
�
X(��4���9�<�,>$>�5(�i�9���%��$��,(?Y)��-���	]�����%
�M�]�,K-�4�=�.����
�..�����(���������I>���J��4��9��&���$6


;�.%�-�,�%��<����������

��(�%�&����-�9���>�����%�,��&��������"#�$�(��)��*�%���&
�DL����< �H(�Z�� ���&$�6��MA^��&���� ������ �
�.�%�� ��%��$�
�(Adjust)�E�P.)�,-�9��<�C�$Q�=(�����,��
=�.�)������D$B�����
�D�$-�{�-�
�.�%���C�:>���$4�&�����"7#��(�=(����<���&�����9��
�
=(����<���������������<��-��-�,4�9��H�-�,-�&�G��&���(Z<+�~74
�\$�.��$>+���I���������(9�2/9�mg/dl�9�������,-�\�4��:I�����

;������:I����..��C{�e���Q�B
�&���&���+�&��<$�9+����SPSS 13���Z���\�<�9�����:�4���-����,���(
��I)�U��.�(��f=�����^���5�#���I)����<$��4�f��)����� –
�&�7B ±�=�0<����C�$Q�,-����.��������#�M�6�)���,(Z�)���$�
;�%�����$I��������.����p <�0/05�D+����,���<�%�D��-�����<��4�
�X(�����C�]	i����..��&��+�"�
�����,<������-�,<�,�>�7��=(����
�������+��4��,-�C�]	i��;�.�%��<�����+����,<$�<�"(9$)�$�<�9�
��$-�,�>�7����
�9��<���$��&����Y���,�6��M��%�,�������,<$�<
�&���+�&��������uI������k4$)�hd4���%��GN���&��+�"�


�M�6�)��,(Z�)���$���%��<�D�����-�"(9$)�$�<�9���]	i��9�-�,�
;�����������#�&���+

��������
�H!-����&��I-�����-�50��$�$4����.�>�-��(��9+����,�>�7��=(����
�&������–��.�-�,>$>��$B��%��$��,(?Y)���
�,���F(��&����G#���
��<����������(���������I>���J��4��9��&��0^�[���
����.�%��
�=(����<����(�C�:>���$4���..�����(���&�:<�25���������9���A(���

;�.��������#��4��-���$�
�
h.
�
=4�X�����$�� �&����Y�� �����<��4� �&�7B  ±=�0<���
��.�%��<�&�����.���&���+�C��:)��0(�A(��-������,4����D9��

_1f���
a�;_p>�0/05a
�`��%�9��MG#����II��e�[+��$A4����Y����P<�9����������=�.���
_2f���
a�;_p>�0/05a��<�$-��<�IA(��<������"(9$)�&�����D����
�D�����`��%�9��MG#������������TISS������7��&����Y����P<�9�

_3f���
a�;_p>�0/05a��<�$-��<�IA(��<������"(9$)�&����
�H�-�&���������<���#�-�E������$������)���`$�)������4��&����Y��

+��������� ��,�-*�./0�
�3���!�
�4�(�5�619��:

����������n
��	��������nn

 ��;�� /�"#�$� ���� =����

 �>#������?���������

��������

?�@��������"� ������  ?�@��������"� ������  
=4
 )��4(  90/6�32/52�77/6�44/50�05/0 ���  
D9�
 )\��$6��(�46/5�28/80�13/5�92/78�05/0 ���  

h.


�
����14  12�

05/0 ��  
D9�11  13�

APACHE II Score�A��#�(���"#�$�������=������B�������4�(�5�62�9��:

�������	���������
�

APACHE II Score /�"#�$� ���� B����� =���  �>#����� ?�������� 
6-0 7  6  
10-7  12  15  
14-11  6  4  
35-15  0  0  

���
�����855/0 ���  
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�
����$�%�@(A�B
�����)C# DDD��#���)�*��
���E*��#�F
%���G�,���*�H	�E)E�
��%�+�-:
�C
��I�J���EKL��'�	�;�129

�,4�9����-������������L�����9����-��]�4�6�����4��4�250�9�
���<+�,����<����������$-������.���C��:)�&�����,�>�7��\��<��9��9��
_4f���
a�;_P <�0/05a��$-�C�:>���$4�9��H�-�=(����<����������

���
�9����..��&��0^�[�&�����`$<���NO)��4��-������-�,�>�7��=(�
�&��I-�D�����-�����(�?@���$��L�����M��)�D�Z����-��I>���J��4�
�5�K�)�=(��9��MQ���j(��<�;�����\��<���F(��&����G#����H!-���
���..� �&��0^�[ �&���� �`��%�,- �9��< �C�$Q����,����� �D�^<
�
�F(��&����G#����H!-����&��I-�D�����-�����I>���J��4��9�
���<���#�-�E�����`$�)������4����������$���-�C�:>���$4�&����
�����(�?@���$��L�����D�����-�����$-����������������(�?@���$�

;�..�����M��)����-
������9����<+�,�6!)������������(�?@���$��Ev��X(L$>$(Z�����-�9�
�(Initial chemical digestion)�,�>����(����%�Ev��,6����X(�&����
�D������D������$B�`$<�9��Ev��,6����X(���J��<$��,���<���
�,���%�-���������\���<+�,���<����(liquid shearing digestion)�D���
�����4���$
��,�>����(����%�Ev��,6����~��Q���>������

������A%��,���4��~����
�%�-����&���������������9�m)��[
�,�>����(����%�Ev��,6����,6�
�9��Ev��M�����=(��9��X(���

�,�6!)�����	�B��,-���.���<�$)����H2���..��y$6-�Z($�)��6]�,-
;_17�
16�
15a��$%�L�����M��)�\�]�������

�D�$-�'4�.��,.��9�����0(��D��0^��F[�,�>�7���-�,�>�7��=(��,�G>�
�����I>���J��4��9��&��0^�[�&�����D�$.]�,-�C�:>���$4�&����
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Abstract

Background: The absolute rest of Gastrointestinal tract is leading to mucousal destrution and atrophy 

because of intestinal mucous dependent on luminal feeding for life. The important of prophylactic treatment 

against stress ulcer in ICU patients was obvious. This study have done to evaluate effects of drugs on gastric 

feeding tolerance in ICU patients.

Materials and methods: In this clinical trial study, 50 patients were randomly divided in two groups and 

received ranitidine or sucralfate for stress ulcer. The demographic variables (age,sex, weight), APACHE II 

score, TISS, episodes of dairrhea, emesis and gastric retention > 250 CC/6h have been determined in both 

groups. The data was analyzed by SPSS software using Chi2and T-test and fisher exact test and Mann-

Whitney U tests.

Results: There were no statistical differences about demographic variables in both groups(P>0.05). 

Comparison about the important difference wasn’t between APACHE II and TISS scores.

The rate of diarrhea and emesis in sacralfate group were lesser than ranitidine group (P<0.05)

Conclusion: Against stress ulcer, prophylaxis with sucralfate has better effect on gastric gavage tolerance 

than ranitidine.

Keywords: Gavage, sucralfate, ranitidine, gastric gavage tolerance.
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